id-917

PDFIZ21FE6 A DNA TY o BEEREWEBE ToRECES) (HEETNBE - BB R 12T 1<8H)
CANTILEVER PINS -WITH INLAY-

REBEY

— VO0—HRUET - R T—

WEES17 = - vzirpegn  17ELE 9/( g/)
nUBSEES(7 nUESERS17| B HH 8 zmue —mEtET A 15 4
FXCB FXNCB Sa5CHEY U =E SRR R
PFXCB PFXNCB BERE= T IVAF
SFXCB SFXNCB SUS304 —
5 RURSBEES17 @ *0.02 Ax2 bUEé?EE&'ffm MAX2
l leald] s, Cleomln]
|M~£ M
16, 16, 16
< AN ya AN
W] SEE zacayy =g
[Lo.02] A ] £ o k= % [L]o.02] A = o
Mx1.5|G |Y+o1_ F N _|G|Y+o01 F
[EHD | @ v- rotikuse 280 L SEEgsn. @ TS b S-S arTENET,
Bz JEEAmmE (I YRR &1
Dgs = MAE) lpgs M| W | W[ BUESHES(7 | hURSEES(7 _ MA] Y4F
Type No. Y F G ON FXCB [PFXCB[SFXCB|FXNCB|PFXNCB [ SFXNCB M3NVFE=115
6 | o oo o1l 3 o I o108 1,330 | 1,600 | 2,000 | 1,770 | 2.130 | 2,660 M 3IY+HFZ11.5
6A —0.012 14 | 12| 1,450 | 1,960 | 2,370 | 1,950 | 2350 | — M 4[Y+F=14.0
8 el " 1210 | 1,450 | 1.750 | 2,190 | 1,930 | 2320 | 2910 M 5|Y+-F=16.2
8a| 8 |00 51001 5~10 8~16) 4 8 M 846 114 [ 1,670 | 2170 | 25610 | 2.220 | 2.700 | — G
. 10 0014 - 15 [13 [ 1560 | 1.860 | 2,340 | 2.070 | 2.480 | 3120 ol T T=1639
BuBe, 10a] 1° o0 10~2014 5 6 10 M0 20 [17 [ 1.970 | 2300 | 2.780 | 2.620 | 3,450 | — M 8|Y+F=23.5
FXCB 12 | 12 5 6 8 17 | 14| 1,760 | 2,110 | 2,650 | 2,340 | 2,800 | 3,520 ~ M10|Y+F=28.5
PEXCB 13 |13 515 1815 | 1,940 | 2.320 | 2,900 | 2570 | 3,080 | 3870 w12|Y+F=355
15 | 15 | 0006 ~ 20|17 | 2,020 | 2.410 | 3,020 | 2,680 | 3210 | 4030 i ohor— oo
SFXCB 16| 16 |—0017 L 12 IM121 51 5 [ 2340 | 2820 | 3,540 | 3,120 | 3.750 | 4720 M16[YHF=45.0
BHUES 17 17 23 | 20 | 2480 | 3,000 | 3,770 [ 3,310 [ 3990 | 5,020 M20|Y+F=55.0
ey 18 |18 2,540 | 3,060 | 3,830 | 3.390 | 4,070 | 5.100
FXNCB 120 | 5y 10~120 20 [M20| o |, | 2570 | 3,090 | 3,860 | 3,430 | 4,110 | 5,140
PEXNCB  [20A o 8101 |16]Mi6 2,570 | 3,090 | 3,860 | 3,430 | 4,110 | 5140
SFXNCB |2 | » 520 20 [M20] o |, | 2890 | 3,480 | 4,350 | 3,860 | 4,640 | 6,79
28 0007 | 4 _ g0 2040 16 |M16 2.890 | 3.480 | 4350 | 3.860 | 4,640 | 5.790
25 | 0 |00 o 1012 16 |200me0] T T3040 [ 3,650 | 4560 | 4,050 | 4,870 | 6,080
25A 16 |M16 3,040 | 3650 | 4,560 | 4.050 | 4,870 | 6,080
30 20 |M20 3,610 | 4330 | 5410 | 4,810 | 5,770 | 7,210
30a] 20 8 1012 16 20145 w16) 36 | 32 [ 5610 | 4.330 | 5.410 | 4810 | 5770 | 7.210
@ NIFRURMBERM T DHETERIRETT
Wt 517 Type m#E [SEL T
FXDB W U= LSRR R
PFXDB | MY [ mamm. s
SFXDB | suss4 -
we )
M R1max /M— W<V, Y=170)
- . B LEDEht
T < AY
| FEHTE T B
7 - 7
5 15
. . (Al w-ls 178U E
Mx1.5| G | Y01 |_F'§'
[HI | @y Fotarse 8RB0 E CEEERD, @ HECEE 2— AP RSP IEVET,
WK EE1mmE L MA (6 H) M ¥E A Bl 1
Type No.| D98 Y F G IR Pgs |E)| vV | H | W ['FxDB [ PFxDB | SEXDB YA Vi
6 | o[-0 5 s |m o Bl 10 8] 1480 | 770 [ 2210  roto—i—
6A —0012 12 | 14 | 12 | 1,630 | 2,140 - M 3|Y+F=11.5
8 - _ 10 [ 12 [ 10 | 159 [ 1,910 [ 2390 M 4|Y+F=14.0
8a] & |-0us 5~100) 5~10) 4 8 IM8 4 16 [ 14| 1830 | 2330 | — _ M 5ly+F=16.2
10 —0014 13 [ 15 | 13 | 1,680 | 2,030 | 2520 Ay ir—qa
10a] 1° 456 10 | M10 <5150 [ 17 | 2150 | 2470 | — _ M 6|Y+F=185
12 |12 5 6 8 15 | 17 | 14 | 1910 | 2300 | 2870 M 8[Y+F=23.5
FXDB 13 |13 515 16 | 18 | 15 | 2120 | 2,550 | 3,190  M10|Y-+F=285
15 | 15 |—0006 18 | 20 | 17 | 2220 | 2670 | 3340 \yoly+rF=355
PEXDB 16 | 16 |-0017| .o 6 810 12 IM12 91751 [ 18 | 2600 | 3.130 | 3,930 —%
17 |17 20 | o | 5o 2270 [ 3380 | 4100 MI6IYHF=450
18 | 18 21 2830 | 3400 | 4250  M20)Y+F=55.0
SFXDB 20 |0 10100 20 (W20 | ,, | e | 5 | 2860 | 3430 | 4280
20A 6 8 1012 16 | M16 2.860 | 3430 | 4.080
2 |, 520 20 [M20 | | oo | 55 2220 | 3860 | 4820
22A —0007 16 | M16 3220 | 3,860 | 4.820
25 ~0020 20 | M20 3,380 | 4,050 | 5.060
24| 8101216 195 Tmie| 2° | 3! | %7 [3380 | 4,050 | 5060
30 20 | M20 4010 | 4800 | 6000
30a] % 8 101216 20195 g | 34 | 36 | 32 [4010 | 4800 | 6.000
@O WVDHE . ZERWAVIMEICIHYET,




